Track and Field Adapted Program

The purpose of this program is to extend opportunities to wheelchair bound Kentucky high school students to participate in the KHSAA sponsored sport of Track and Field. We would like to explore the possibilities of including these students this year.

We plan to offer two exhibition events during the 2010-11 spring track and field season, one track event, the 400m race, and one field event, the shot put. We feel that beginning with just two events this will allow participants to sample competition as well as allow a learning period for coaches and officials.

We would like for the student athletes to participate in the regular season. Their scores would be reported to the AAASP where their points would be tracked and compiled. This procedure would allow the participants the ability to then qualify for the state exhibition events. At state we would conduct the exhibition events, and deliver medals to the winners, but team points would not be scored for any school team through those events.

The plan for the future would be to add events, as well as to add, if there is sufficient numbers to warrant, a team championship for adapted teams. The membership with AAASP program will allow for the scoring process to be compiled, help us with the training of coaches and our officials, and give us valuable insight as to how to implement and grow this worthwhile addition to our state events.

The KHSAA staff has spoken to Beverly Vaughn, the executive director and CEO of AAASP on a number of occasions. She has been very helpful and is knowledgeable. The attached document from Beverly Vaughn explains the benefits afforded to the KHSAA by joining their membership on an annual basis.



Vision

AAASP envisions a society where all children with physical disabilities can experience the rewards and satisfaction of competitive school-based sports.

Mission

AAASP's mission is to develop and support a standardized structure for school-based athletic competition to improve the well being of students with physical disabilities.

Membership

As a member of the American Association of Adapted Sports Programs, (AAASP) the Kentucky State High School Athletic Association will receive the following benefits: (Annual membership fee: \$2500)

- 1. Competition rules for wheelchair track and field
- 2. On-line coaches education that includes a video and power point presentation
- 3. Guidance on eligibility as it relates to a student's physical disability
- 4. Recommendations on how to incorporate relevant medical information on current forms
- 5. Assistance in communication with others about the initiative, including parents
- 6. Access to resources for KHSAA member-schools in regard to equipment
- 7. Assistance with presentations (travel costs not included with membership fee)
- 8. Inter-agency coordination
- 9. Consultation on all aspects of the program from development to implementation
- 10. Current information on state and national trends in this area

www.adaptedsports.org/404-294-0070/sports@adaptedsports.org

BOWLING REPORT

BOC MEETING OCTOBER 18, 2010

Meeting Attendees were Julian Tackett, Butch Cope, Angela Passafiume, Jack McCarthy, and John McCarthy

Meeting Date: Thursday, August 26

Findings:

1) Scheduling – current

- a) State Tournament March 19 and 20 this year's state date's conflict with boys state basketball.
- b) Leagues run from November to March in Louisville and in the rest of the state the leagues begin on the first day of school and end with the state tournament in March.

Scheduling - proposal

We recommend that bowling be defined as a winter sport with first possible tryout date beginning October 15 and the State Tournament being two weeks after the final basketball state tournament.

2) Alignment – current

a) 60 schools in 5 conferences that fit into 4 regions

Alignment – proposal

We recommend that we see how many additional teams respond to a survey. Once we have our numbers we will follow the procedures to form regions.

State Tournament Fees – current

- a) All schools pay state dues of \$55 and each conference followed different additional fee guidelines depending on the proprietor of the alley guidelines and the coordinator of the region.
- b) Cost to run regional and state \$10,000

State Tournament Fees - proposal

There will be no fee to participate in the state tournament. Sponsorship could be found to offset cost of the tournament as well as gate receipts.

What is the cost for schools?

Regular season matches cost \$75 to be split between the two participating schools (\$37.50 each). There may be some nominal fees for practices, such as shoe rental and lane use. Schools would need to hire and possibly pay coaches.

Regional trophies would also be an expense, which could be offset by the price of admission into the regional contest. There would be an expense to the school to send a team to the state tournament. This would be an individual sport to the KHSAA and subject to the same budgetary constraints as other individual events.

What is the cost to the KHSAA?

Currently, the cost to run the state tournament is \$8,000. The current admission rates are not at the level of the current KHSAA event admission rates. Additionally, the current management utilized most of the event income for a scholarship program. This scholarship program is a tradition in outside school bowling competitions.

We would anticipate that our cost would be \$12,000 to \$13,000 with the anticipation that we will raise the bar with this being a KHSAA state championship. We also anticipate that through possible sponsorships, programs, and novelty sales that we can offset these additional expenses.

Helpful facts:

This past season there were 60 schools or groups in the state participating in bowling.

There are 60 bowling alleys in the state in which at least three are large enough to host a state championship. (A listing of alley location is attached)

There are 24 states nationally hosting a bowling state championship.

Attached:

Kentucky Bowling Center Locations 2010-2011

Kentucky High School Bowling Budget 2010-2011

Kentucky Team Participation List 2010-2011

Kentucky Bowling Centers 2010-2011	ing Centers	2010-2011		TO A STATE OF THE			
Center	Rep Name	Address	City	State	Zjp	Phone	Lanes
Crystal Bowl	Harry Johnson	1482 KY Highway 558	Albany	Κλ	42602	606-387-4892	10
Bardstown Bowling	Larry Luvisi	1012 Commerce Blvd	Bardstown	⋩	40004	502-348-2003	12
Crescent Bowl	Robert Baulch	2724 Nashville Rd	Bowling Green	⋩	42101	270-843-6021	32
Lynn's Pins	Gerry or Nancy Lynn	204 Olin Rd	Brandenburg	₹	40108	270-422-9986	12
Phillips Lanes	Mike Phillips	PO Box 566	Campbellsville	≿	42719	270-465-5296	20
Forest Lanes	D L Lynch	1019 Cumberland Falls Hwy	Corbin	۲	40701	606-528-2303	20
Danville Bowlarama Lanes, Inc	Terri Cooley	1050 Lexington Road	Danville	Κ	40422	859-236-6452	24
Go Go Gorilla's Family Fun Ctr	Christopher Turner	ss Suite	13 Danville	ΚΥ	40422	859-238-1589	4
Super Bowl Erlanger	Michele Colangelo	510 Commonwealth Ave	Erlanger	К	41018	859-727-7671	64
Double "S" Entertainment	Cody Shannon	150 Foster Street	Flemingsburg	⋩	41041	606-845-0407	12
Hooper Bowling Center	Bowling Center Manager	Bldg 5380	Fort Campbell	Κ	42223	270-798-5887	32
Houston Bowling Center		2385 Knox Street	Fort Knox	⋩	40121	502-624-4740	24
La Ru Lanes		2443 Alexandria Pike	Highland Heights	Κ	41076	859-781-2111	16
Collins Bowling Ctr Southland	Daniel Collins	205 Southland Drive	Lexington	₹	40503	859-277-5746 >	40
Collins Bowling Ctr Eastland	Daniel Collins	750 E New Circle Rd	Lexington	≿	40505	859-252-3429	44
Levi Bowling Center	D L Lynch	21 Middle Groundway	London	₹	40741	606-864-5918	16
AMF Rose Bowl Lanes	Kristine Davidson	2217 Goldsmith Ln	Louisville	Κ	40218	502-451-5717	36
AMF Derby Lanes	Kimberly Oliver	7709 Beulah Church Rd	Louisville	⋩	40228	502-239-2388	40
King Pin Lanes	Rodney Vincent	9525 Taylorsville Road	Louisville	Κ	40299	502-719-5464	50
Ken Bowl Lane Inc	Bill Carter	PO Box 14125	Louisville	⋩	40214	502-367-1732	36
Ten Pin Lanes	Larry Schmittou	200 Ten Pin Lane	Louisville	₹	40207	502-896-1727	40
Executive Strike & Spare	Cheryl Willis	911 Phillips Lane	Louisville	≿	40209	502-368-1651	68
Shively Strike & Spare	Larry Schmittou	3950 Park Drive	Louisville	kХ	40216	502-448-5011	42
Fern Valley Strike & Spare	Larry Schmittou	6220 Shepherdsville Rd	Louisville	Κ	40228	502-968-2695	44
Dixie Bowl Lanes	Bill Carter	PO Box 14147	Louisville	Κ Υ	40214	502-937-7900	36
Vernon Lanes	Dale McCall	1575 Story Ave	Louisville	kХ	40206	502-584-8460	œ
Melody Lanes	Brad Ballard	PO Box 1736	Madisonville	Κ	42431	270-821-2616	20
Super Bowl Bellewood	Rob Tipton	1211 Waterworks Rd	Newport	Κ	41071	859-781-1211	32
Walt's Center Lanes	Pete Wagner	1809 Monmouth Street	Newport	λЖ	41071	859-431-2464	32
Star Lanes On The Leeve	A DESCRIPTION OF THE PROPERTY	1 Leeve Way Ste 1112	Newport	Κ	41017	859-291-0550	16
Strike Zone Lanes	Tim Burke	315 N 2nd St	Nicholsville	Ϋ́	40356	859-885-3328	16
Bowlodrome Lanes	Billy Pogue	1010 Frederica St.	Owensboro	≿	42301	270-684-5297	24
Diamond Lanes	David Allgood	1901 Triplett Ave	Owensboro	Κ	42301	270-929-0691	12

Diamond Lanes South	David Allgood	410 Carlton Drive	Owensboro	⋩	42301	270-685-2695	24
Cardinal Lanes		816 Joe Clifton Dr	Paducah	⋩	42002	270-443-6441	32
Galaxy Bowling Center	Courtney Worley	1025 Amberly Way	Richmond	≿	40475	859-624-4444	32
Bluegrass Bowling Center	Mike Kiser	PO Box 1309	Shelbyville	⋩	40066	502-633-1731	16
R & V Sports Bowling Center	Rick Woosley	PO Box 774	Winchester	≽	40391	859-745-1901	16
Southern Lanes Sports Ctr	Don Hilker	7634 Alexandria Pike	Alexandria	₹	41001	859-635-2121	16
Blue Ribbon Lanes	Greg Gose	1108 Winchester Ave	Ashland	⋩	41101	606-329-1299	26
Ohio County Bowl		1313 N Main Street	Beaver Dam	⋩	42320	270-274-4852	12
Southern Lanes	Donald Litten	2710 Scottsville Lane	Bowling Green	₹	42104	270-843-8741	34
Florence Bowl	Brenda Case	7500 Sussex Dr	Florence	⋩	41042	859-371-9550	36
Capital Bowl	Dennis Frederick	80 Anderson Road	Frankfort	⋩	40601	502-875-3610	24
Jet Lanes		104 S 4th St	Fulton	₹	42041	270-472-1460	œ
Galactic Alley Bowling Center	Norman Wilson	701 Slone Drive	Georgetown	⋩	40324	859-234-5534	4
Highlander Bowl	Ervin/patricia Caldwell	110 Park Ave., PO Box 2098	Glassgow	⋩	42141	270-651-9020	16
Fugate's Bowling Center	Pam Fugate	218 Entertainment Dr	Hazard	⋩	41701	606-439-3244	20
Echo Lanes	Bob Harper	1698 Second Street	Henderson	⋩	42420	270-826-2793	24
Indian Hills Bowl Inc	Ann Carter	P.O. Box 691	Hopkinsville	₹	42240	270-885-3936	24
Rainbow Lanes	Bobby Lyons	Box 186	Leitchfield	⋩	42754	270-259-4304	16
Joyland Bowling Center	Dennis Frederick	2361 Paris Pike	Lexington	⋩	40505	859-293-0529	36
Fern Bowl	Dennis Frederick	5518 Bardstown Road	Louisville	⋩	40291	502-239-6170	20
Strike Zone Family Entertainmer Paul Holdeman	Paul Holdeman	921 Red Bird Lane	Mayfield	К Х	42066	270-247-0052	9,
Bullitt East Lanes	Bill Wayland	P.O. Box 172	Mt Washington	⋩	40047	502-538-7371	9
Sparetime Bowl	Theresa Prater	621 Broadway St	Paintsville	Κ	41240	606-789-3663	12
Classic Lanes	Greg Clavenger	200 Ventura Lane	Pikeville	⋩	41501	606-432-3710	16
Pin Zone Lanes	Eddie Surplock	94 Mayo Hollow	Prestonsburg	⋩	41653	606-886-1400	16
Lucky Strike Lanes	Gary Flear	201 Northfield Dr	Princeton	₹	42445	270-365-5376	20
Briar Bowl	Annette Lewis	1084 S. Hwy 27	Somerset	⋩	42501	606-678-5332	20

2010 - 2011 Kentucky High School Bowling Budget

Louisville		37	\$55	\$2,035
21	21 Boy Teams & 16 Girl Teams			
Northern KY		40	\$22	\$2,200
20	20 Boys Teams & 20 Girls Teams			
Horse Capital		24	\$55	\$1,320
16	16 Boy Teams & 8 Girl Teams			
Bluegrass		10	\$55	\$550
5.6	5 Bay Teams, 5 Girl Teams			
Heartland		9	\$55	\$330
5.6	5 Boy Teams, 1 Girl Team			
Grayson Co		2	\$55	\$110
16	1 Boy Team, 1 Girl Team			
Spectator Admissions				\$1,200
				\$7,745
State Expenses				
State Tournament Linage		496	\$2	\$992
Qu	Qualifying \$512, Match play \$480			
State Tournament Trophy		∞	\$40	\$320
Regional Tournament Linage		848	\$2	\$1,696
Qu	Qualifying \$864, Match play \$752			
Regional Tournament Trophy		16	\$30	\$480
State Director Salary				\$700
State Director Travel				\$400
State Tournament Scholarships				\$3,200
151	1st \$640, 2nd \$420, 3rd & 4th \$270	0		
				\$7,788
				-\$43

Louisville Teams	Heartland Teams	Northern Ky Teams	Bluegrass Teams	Bluegrass Teams Horse Capital Teams Independents	Independents
Bullitt Central	Campbellsville	Bellevue	Bourbon County	Bluegrass United	Paducah Tillman
Waggener	Green County	Bishop Brossart	Clark County	Bryan Station	Grayson County
Butler	Taylor County	Boone County	Fleming County	Dunbar	
Doss		Campbell County	Harrison County	East Jessamine	
Fairdale		Conner	Scott County	Henry Clay	
Fern Creek		Cooper		Lafayette	
Holy Cross		Covington Catholic		Lexington Catholic	
Jeffersontown		Dayton		Madison Southern	
Male		Dixie Heights		Richmond Model	
Manual		Erlanger Lloyd		Tates Creek	
Mercy		Highlands		Wellspring	
North Bullitt		Holy Cross		West Jessamine	
Pleasure Ridge Park		Newport			
Presentation		Notre Dame			
Sacred Heart		Ryle			
Seneca		Scott			
St. Francis		St. Henry			
St. Xavier		Villa Madonna			
Trinity		Walton-Verona			

<u>90</u>

12

Ŋ

19

ന

19

2010 - 2011 Kentucky High School Bowling Budget

State Incomes				
Louisville	37	\$55	\$2,035	
21 Boy Teams & 16 Girl Teams				
Northern Ky	40	\$55	\$2,200	
20 Boys Teams & 20 Girls Teams				
Horse Capital	24	\$55	\$1,320	
16 Boy Teams & 8 Girl Teams				
Bluegrass	10	\$55	\$550	
5 Boy Teams, 5 Girl Teams				
Heartland	6	\$55	\$330	
5 Boy Teams, 1 Girl Team				
Grayson Co	2	\$55	\$110	
1 Boy Team, 1 Girl Team				
Spectator Admissions			\$1,200	
				\$7,74
State Expenses				
State Tourny Linage	496	\$2	\$992	
Qualifying \$512, Matchplay \$480				
State Tourny Trophy	8	\$40	\$320	
Reg Tourny Linage	848	\$2	\$1,696	
Qualifying \$864, Matchplay \$752				
Reg Tourny Trophy	16	\$30	\$480	
State Director Salary			\$700	
State Director Travel			\$400	
State Tourny Scholarships			\$3,200	
1st \$640, 2nd \$420, 3rd & 4th \$270				
				\$7,78
				<u>-\$43</u>
Louisville Income		4	4	
Boys Teams	21	\$60	\$1,260	
Girls Teams	16	\$60	\$960	4
				\$2,22
Louisville Expenses	200	ća	ĊZCO	
District Tournaments Linage	380	\$2	\$760	
Qualifying \$592, Matchplay \$168		ćoz	6242	
District Trophies Reg	9	\$27	\$243	
District Trophies Tourny	9	\$27	\$243	
All Conference Plaques	22	\$16	\$352	
20 1st & 2nd team members 2 BOY		* * *	A	
Coach Award & Most Improved	4	\$16	\$64	
All Academic Certificates			\$50	
Louisville Administrator			\$500	.
				\$2,2
				<u>\$8</u>

Center	Rep Name	Address	City	State	Zip	Phone	Lanes
Crystal Bowl	Harry Johnson	1482 KY Highway 558	Albany	KY	42602	606-387-4892	10
Bardstown Bowling	Larry Luvisi	1012 Commerce Blvd	Bardstown	KY	40004	502-348-2003	12
Crescent Bowl	Robert Baulch	2724 Nashville Rd	Bowling Green	KY	42101	270-843-6021	32
Lynn's Pins	Gerry or Nancy Lynn	204 Olin Rd	Brandenburg	KY	40108	270-422-9986	12
Phillips Lanes	Mike Phillips	PO Box 566	Campbellsville	KY	42719	270-465-5296	20
Forest Lanes	D L Lynch	1019 Cumberland Falls I	Corbin	KY	40701	606-528-2303	20
Danville Bowlarama Lanes, Inc	Terri Cooley	1050 Lexington Road	Danville	KY	40422	859-236-6452	24
Go Go Gorilla's Family Fun Cent	Christopher Turner	2900 S Danville Bypass	Danville	KY	40422	859-238-1589	4
Super Bowl Erlanger	Michele Colangelo	510 Commonwealth Ave	Erlanger	KY	41018	859-727-7671	64
Double "S" Entertainment	Cody Shannon	150 Foster Street	Flemingsburg	KY	41041	606-845-0407	12
Hooper Bowling Center	Bowling Center Manager	Bldg 5380	Fort Campbell	KY	42223	270-798-5887	32
Houston Bowling Center	Bowling Center Manager	2385 Knox Street	Fort Knox	KY	40121	502-624-4740	24
La Ru Lanes	Glenn P. Schmidt	2443 Alexandria Pike	Highland Heights	KY	41076	859-781-2111	16
Collins Bowling Ctr Southland	Daniel Collins	205 Southland Drive	Lexington	KY	40503	859-277-5746 x2	40
Collins Bowling Ctr Eastland	Daniel Collins	750 E New Circle Rd	Lexington	KY	40505	859-252-3429	44
Levi Bowling Center	D L Lynch	21 Middle Groundway	London	KY	40741	606-864-5918	16
AMF Rose Bowl Lanes	Kristine Davidson	2217 Goldsmith Ln	Louisville	KY	40218	502-451-5717	36
AMF Derby Lanes	Kimberly Oliver	7709 Beulah Church Rd	Louisville	KY	40228	502-239-2388	40
King Pin Lanes	Rodney Vincent	9525 Taylorsville Road	Louisville	KY	40299	502-719-5464	50
Ken Bowl Lane Inc	Bill Carter	PO Box 14125	Louisville	KY	40214	502-367-1732	36
Ten Pin Lanes	Larry Schmittou	200 Ten Pin Lane	Louisville	KY	40207	502-896-1727	40
Executive Strike & Spare	Cheryl Willis	911 Phillips Lane	Louisville	KY	40209	502-368-1651	68
Shively Strike & Spare	Larry Schmittou	3950 Park Drive	Louisville	KY	40216	502-448-5011	42
Fern Valley Strike & Spare	Larry Schmittou	6220 Shepherdsville Rd		KY	40228	502-968-2695	44
Dixie Bowl Lanes	Bill Carter	PO Box 14147	Louisville	KY	40214	502-937-7900	36
Vernon Lanes	Dale McCall	1575 Story Ave	Louisville	KY	40206	502-584-8460	8
Melody Lanes	Brad Ballard	PO Box 1736	Madisonville	KY	42431	270-821-2616	20
Super Bowl Bellewood	Rob Tipton	1211 Waterworks Rd	Newport	KY	41071	859-781-1211	32
Walt's Center Lanes	Pete Wagner	1809 Monmouth Street	Newport	KY	41071	859-431-2464	32
Star Lanes On The Leeve		1 Leeve Way Ste 1112	Newport	KY	41017	859-291-0550	16
Strike Zone Lanes	Tim Burke	315 N 2nd St	Nicholsville	KY	40356	859-885-3328	16
Bowlodrome Lanes	Billy Pogue	1010 Frederica St.	Owensboro	KY	42301	270-684-5297	24
Diamond Lanes	David Allgood	1901 Triplett Ave	Owensboro	KY	42301	270-929-0691	12
Diamond Lanes South	David Allgood	410 Carlton Drive	Owensboro	KY	42301	270-685-2695	24

Cardinal Lanes		816 Joe Clifton Dr	Paducah	KY	42002	270-443-6441	32
Galaxy Bowling Center	Courtney Worley	1025 Amberly Way	Richmond	KY	40475	859-624-4444	32
Bluegrass Bowling Center	Mike Kiser	PO Box 1309	Shelbyville	KY	40066	502-633-1731	16
R & V Sports Bowling Center	Rick Woosley	PO Box 774	Winchester	KY	40391	859-745-1901	16
Southern Lanes Sports Ctr	Don Hilker	7634 Alexandria Pike	Alexandria	KY	41001	859-635-2121	16
Blue Ribbon Lanes	Greg Gose	1108 Winchester Ave	Ashland	KY	41101	606-329-1299	26
Ohio County Bowl		1313 N Main Street	Beaver Dam	KY	42320	270-274-4852	12
Southern Lanes	Donald Litten	2710 Scottsville Lane	Bowling Green	KY	42104	270-843-8741	34
Florence Bowl	Brenda Case	7500 Sussex Dr	Florence	KY	41042	859-371-9550	36
Capital Bowl	Dennis Frederick	80 Anderson Road	Frankfort	KY	40601	502-875-3610	24
Jet Lanes		104 S 4th St	Fulton	KY	42041	270-472-1460	8
Galactic Alley Bowling Center	Norman Wilson	701 Slone Drive	Georgetown	KY	40324	859-234-5534	14
Highlander Bowl	Ervin/patricia Caldwell	110 Park Ave., PO Box	Glassgow	KY	42141	270-651-9020	16
Fugate's Bowling Center	Pam Fugate	218 Entertainment Dr	Hazard	KY	41701	606-439-3244	20
Echo Lanes	Bob Harper	1698 Second Street	Henderson	KY	42420	270-826-2793	24
Indian Hills Bowl Inc	Ann Carter	P.O. Box 691	Hopkinsville	KY	42240	270-885-3936	24
Rainbow Lanes	Bobby Lyons	Box 186	Leitchfield	KY	42754	270-259-4304	16
Joyland Bowling Center	Dennis Frederick	2361 Paris Pike	Lexington	KY	40505	859-293-0529	36
Fern Bowl	Dennis Frederick	5518 Bardstown Road	Louisville	KY	40291	502-239-6170	20
Strike Zone Family Entertainmen	Paul Holdeman	921 Red Bird Lane	Mayfield	KY	42066	270-247-0052	18
Bullitt East Lanes	Bill Wayland	P.O. Box 172	Mt Washington	KY	40047	502-538-7371	16
Sparetime Bowl	Theresa Prater	621 Broadway St	Paintsville	KY	41240	606-789-3663	12
Classic Lanes	Greg Clavenger	200 Ventura Lane	Pikeville	KY	41501	606-432-3710	16
Pin Zone Lanes	Eddie Surplock	94 Mayo Hollow	Prestonsburg	KY	41653	606-886-1400	16
Lucky Strike Lanes	Gary Flear	201 Northfield Dr	Princeton	KY	42445	270-365-5376	20
Briar Bowl	Annette Lewis	1084 S. Hwy 27	Somerset	KY	42501	606-678-5332	20

Reasons to expand the Swimming and Diving State Meet to 32 swimmers (from the original 24 swimmers) per event:

- 1. **Participation** Schools throughout the state would know that there is a greater opportunity to make it to the state meet and thus potentially increase the number of swimmers competing statewide. At the same time this would allow for additional schools/teams to be involved in the state meet. The number of athletes who could participate would increase by 33%, thus increasing the motivation of the athletes to perform in order to make it to the state meet. There is also a chance that younger swimmers may be included in the meet. Their inclusion, and the chance to move forward, may keep them involved in the sport for years to come.
- 2. **Fairness** For the past ten years, there have been 5 events or more, that have one or more automatic qualifiers achieving a time in the Regional that is slower than the 24th fastest time from all of the regionals. An example, two years ago the two swimmers who competed in a swim-off for the first alternate position each had achieved times that would have been top 16, but they were not entered in the meet because of the 24 person limit, which includes 10 automatic qualifiers. These two swimmers had tied for 23rd place, but were bumped for automatic qualifiers. With 32 entrants you are *guaranteed* to have the 24 fastest times in the state in attendance.
- 3. **Balance** Occasionally there are events that have 8-10-12 swimmers from a couple of regions and few from the other regions. By continuing to limit each region to 12 possible entrants per event, the additional heat of 8 swimmers will be made up of swimmers from the underrepresented regions. In addition, some pools are considered faster than others, so a region with a slower pool would then have an opportunity to qualify additional swimmers so as to compete side-by-side at the state meet.
- 4. **Time** An additional heat would not add any time to the swimming qualifications as the meet is currently run very slowly to allow recovery time for the swimmers. At the same time, it will allow more rest, which adds to the quality of the swims. The extra heat would actually provide for more action/excitement at the meet and eliminate the delays between the events that we currently encounter.
- 5. **Income** The added swimmers would bring with them additional spectators on Thursday and Friday adding to the income the meet now generates.

In order to make this happen, we would need to have diving prelims on Thursday, starting at 5:00 p.m. and finishing by 9:30PM. This would involve 64 divers (32 male and 32 female). These 64 divers would be cut to 32 (16 males and 16 females) that would compete during finals on Saturday.

Swimming prelims would take place, as usual, on Friday. Swimming and diving finals would take place, as usual, on Saturday.

RECOMMENDED CHANGE TO TOURNAMENT RULES FOR GOLF

Under Section V, Contestants, it be amended to include the following -

- 1. In the event that a student-athlete is selected to the Professional Golf Association (PGA) Junior Ryder Cup team representing the United States, such student-athlete shall automatically qualify for an optional at-large bid to our state tournament provided that either the competition, or travel to and from the competition, would require the student-athlete to miss the KHSAA Regional Golf Tournament. The at-large bid would be based on the following:
 - a. The student-athlete desires to participate in the State Tournament and is available for the published State Tournament schedule;
 - b. The student-athlete meets the criteria contained in Section IV of the Tournament rules regarding number of matches;
 - c. The student-athlete meets all KHSAA eligibility requirements;
 - d. The student-athlete plays an 18-hole round during the regular season representing his/her school at the regional golf course with that score used for state first day pairings; and
 - e. The student-athlete does not otherwise qualify for the state tournament through the regional qualifying process.
- 2. The addition of this at-large bid does not impact the number of students otherwise qualifying from the regional tournaments; and
- 3. If the at-large bid recipient is a member of a qualifying team, he/she must be included in the four/five players that count for team scoring.